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Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed

instructions given therein. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be issued.

  



        

         

       
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Section–A / 

(Long Answer Type Questions) /  

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. What is national income? Describe the various meth-

ods of estimation of national income.

         
   

2. What is meant by economic planning? Focus on the

achievements and failures of economic planning in

India.

        
      

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3. Define economic reforms. Give arguments for and

against economic reforms.

       

      

4. What do you understand by human development in-

dex? Explain the role of human development in eco-

nomic development of a country.



        

 

5. What is the role of cottage and small scale indus-

tries in India? Describe the problems they face.

    

   

Section–B / 

(Short-Answer-Type Questions) /  

Note :Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

      (4×8=32)
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    (08)      

      (08)   

  (04)  

 

1. Functions of NITI aayog.

   

2. Depreciated economy.

  

3. Minimum Support Price.

  

4. 'Make in India'.

  

5. Features of LLP organization.

   

6. Types of unemployment.

  

7. Problems of tourism industry in Uttarakhand.

     

8. Taxes subsumed into GST.

   

***********
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